x o e 4] % +ax® +bhx+2 5 2 - x+ 1 2 UE YA}
x+30° HE%a, b O F& AL W, ab F& TSIzt

> &

> HE: ab=-6

B ‘
ABAE A
Pra®+bx+2=x*-x+1)-A+ (x+3)
A=(x+p)
WBra?+bx+2-(x+3)=(x*-x+1)(x+p)
Bra+b-Dx-1=(x-x+1)(x-1) ~p
g9e Gt

a=-2,b=3
s.ab= -6

=-1




t}2 19 9] A2H AGHE, AH2H3 EFCD = E

A2k @el i, AD = a, AB = b A, 423

GBFH 9] §o]=? G H
B—

@ a? - 2ab - b? @ a® + 3b% - 2ab

@—a2 + 3ab — 2b> @ —a®+ 3ab - b?

® —a® + 2ab - b?

O0GBFH = oABCD - 0AGHE - oEFCD
=ab - (a - b)? = b*> = ab — (a® — 2ab + b?) - b?
= —a® + 3ab - 2b?




3. xtytz=lwytyzta=20z=3¢ ™, (x+ 1)y +1)(z+1)
o] = kit

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7




4. (x-1)(x-3)(x=5)(x-7) + a7t 1A ] SAAFo] HEE 4]
A= AstH?

® 4 @ 8 ® 12 @ 15 @16

B

(F2)= (¥ -8x+ 7)(x? —=8x+15) +a
A71A, x> -8x+T=X=2 =°H
(FA) =X(X+8)+a

=X?+8X+a=(X+4)>+a-16
A a = 16




5. (1+42x—3x2 +4x3 = 5xt +6x° 4 7x)2 o] IR A] ¥ O] A2

® 0 @ 2 @2 @4 ©)u

¥ s 5 Qe A2

BADx(ErD), A=) x(1#F)
24Hlo]ch

A4x1x2+ (-3)x2x2 =8+ (-12) = -4




